Solstabridgen
Simultantavling 2022-09-28

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poang % Namn MID Klubb
1 10 246.9 64.31  May-Lis Lindblom - Annika Sundelin 3494 29538 Solstabridgen
2 6 223.1 58.10 Mickael Persson - Leif Humsjo 44793 41845 Hammard BK - Solstabridgen
3 7 220.1 57.31  Jorgen Hirschfeldt - Klas Nilsson 3590 12950 Solstabridgen
4 3 220.0 57.29  Leif Jansson - Sune Enqvist 53279 10523 Solstabridgen
5 16 204.6 53.29  Carl-Erik Andersson - Thomas Peterson 3501 3589  Hammar6 BK
6 12 203.9 53.10 Lennart Asplund - Bertil Asplund 10697 11289 Solstabridgen - BK Ruter
7 17 197.2 51.36 Per-Ove Magnusson - Rolf Persson 11337 84466 Billeruds BK
8 1 188.4 49.07 Lars Risel - Lars-Eric Adolfson 3552 33964  Solstabridgen
9 8 184.5 48.04  Marie Lundgren - Karin Nordling 63137 65391 Solstabridgen
10 18 184.4 48.02  Leif Bergsten - Anders Ludvigsson 3537 60328 Solstabridgen
11 15 183.4 47.77  Mats Kvarnstrom - Marita Nilsson 63279 16889  Solstabridgen - Hammar6 BK
12 14 182.2 47.45  Margit Roth - Mérta Arvidsson 63938 17853  Solstabridgen
13 13 178.2 46.40 Mats Hallerstedt - Jan-Erik Nerlund 11306 10454 Solstabridgen
14 2 173.2 45.11 Hans Obstfelder - Erik Nordenberg 88642 12256  Solstabridgen
15 11 172.7 4498 Lena Arlén - Elisabeth Sandblom 55299 63661 Solstabridgen - Karlstads BK
16 4 169.6 44.15  Ingemar Liljegren - Birgitta Westergren 83888 52758 Solstabridgen
17 5 162.2 42.24  Lauri Norta - Irene Eriksson 12910 55333 Solstabridgen - Karlstads BK
18 9 161.3 42.01 Lennart Gustafson - Knut Warberg 17841 32733 Hammar6 BK
1 4 E87 2 « D98 3 4« E105
Nord v 10872 Ost v 83 Syd vD53
Ingen ¢ 10854 NS ¢ 1052 ov + 1096
72 2K7632 #Kn864
4KD3 4Knl092 4 KKn106 743 4 Kn963 4 KD2
vD54 vE3 v E652 vKD104 v EK7 v 964
¢ED7 ¢32 ¢ KKn + D9763 +Kn82 ¢ KD7
#K985 #EDKnN43 #EDI10 *5 «D97 #K1052
4 654 « E52 874
v KKn96 vKn97 vKn1082
¢ KKn96 +E84 ¢ E543
£106 #Kn984 &E3
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
14 8 340+3 v6 -170  16.0 00|12 11 4v V-1 v8 50 160 00| 8 4 2NO= vl] -120 11.0 50
18 4 3NV +1 v2 -430 140 20|10 5 INV+2 2 -150 13.0 3.0( 9 14 INO+1 v2 -120 110 5.0
15 2 44 O+1 a4 -450 120 4.0(18 4 INV+2 3 -150 13.0 3.0(10 17 INO+1 vJ -120 11.0 50
6 16 3NV +2 v2 -460 50 11.0| 7 3 2vV+2 48 -170 90 7.0(|13 2 INO+1 vlJ -120 11.0 50
7 3 3NV+2 +4 -460 50 11.0| 9 17 1v V+3 49 -170 9.0 7.0|15 3 INO+1 v] -120 110 5.0
9 17 3NV +2 ¢+4 -460 50 11.0| 6 16 3v V+2 v3 -200 6.0 100|18 5 2NO= v2 -120 11.0 50
10 5 3NV +2 v7 -460 50 11.0|13 1 INV+4 3 -210 3.0 13.0|11 6 2NV +1 *T -150 4.0 12.0
12 11 3NV +2 v2 -460 50 11.0|14 8 INV+4 %3 -210 3.0 13.0|16 7 INO+3 vJ] -180 2.0 140
13 1 3NV +2 +4 -460 50 11.0|15 2 4v V= v3 -420 0.0 16.0| 1 12 3NV= *T -600 0.0 16.0
4 4 E10952 5 a- 6 4« EDKn8743
Vast v 1092 Nord v K6 Ost v92
Alla ¢+ D974 NS ¢ DKn10853 ov + KKn105
*4 #KD1097 »-
# Kn843 D 4 KKn8732 D6 a K2 410
vK7 v DKn83 v Kn95 v 108 vED754 vKKnl103
+E8 + KKn1065 +92 + K74 49432 ¢ EDS8
#Kn10872 #K53 #85 #EKn6432 «D4 #Kn9653
4« K76 « E10954 4 965
vE654 vED7432 v 86
+32 +E6 +76
&#ED96 »- »EK10872
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
16 7 INO-3 v5 300 160 00|16 8 4v S+3 +9 710 16.0 0.0|17 11 44 N= «6 420 16.0 0.0
18 5 INO-2 6 200 140 20| 6 18 4v S+1 47 650 140 20| 2 1 44 N-1 v3 -50 11.0 5.0
8 4 INV= +4 90 120 4.0| 4 15 4v S= +9 620 100 6.0| 4 15 44 N-1 v3 -50 110 5.0
1 12 24 N-1 +Q -100 90 7.0|13 3 4vS= 8 620 100 60| 9 5 44 N-1 vl] -50 11.0 5.0
15 3 24 N-1 vQ -100 9.0 7.0|17 11 4v S= 48 620 100 6.0(13 3 44 N-1 vJ -50 11.0 5.0
13 2 3aV-= vT -110 6.0 100| 2 1 24DO-2 ¢A 300 6.0 10.0| 6 18 44DN-1 3 -100 4.0 12.0
10 17 INO+1 v5 -120 3.0 13.0| 9 5 3v S+l &5 170 40 120|12 7 44DN-1 ¢K -100 4.0 12.0
11 6 2NV= a2 -120 3.0 13.0|12 7 B6NN-2 vT -200 1.0 15.0|14 10 44 N-2 vT -100 40 120
9 14 44 N-3 v3 -300 0.0 16.0|14 10 4v S-2 8 -200 10 150(16 8 54 N-3 vK -150 0.0 16.0
7 4« KKn93 8 4 K10 9 4 K10
Syd v 1082 Vast v5 Nord vED9753
Alla + 109 Ingen ¢ EDKn754 ov ¢ EKD
#8432 #EK76 *62
410 4 D765 4EKNn2 4D7654 483 « ED954
v E965 v KKn43 v 86 v DKn1072 v 864 v K10
¢+ DKn4 ¢ EK75 ¢K108 ¢3 ¢854 41063
#EDKN75 #6 298542 &D10 #DKn1095 &EKA4
« E842 4983 4 Kn762
vD7 v EK943 vKn2
¢ 8632 4962 ¢ Kn972
#K109 #Kn3 £873
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 2 3NO-2 «T 200 160 00| 1 8 3NN= 47 400 13.0 30|13 5 340-2 vJ 200 150 1.0
15 5 4v V-1 43 100 140 20| 7 18 5¢ N= vQ 400 130 30|17 1 340-2 vJ 200 150 1.0
13 4 4v V= 3 -620 110 50(10 6 5¢ N= 44 400 13.0 30| 4 3 3vN= A 140 12.0 4.0
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14 11 49 O= 4 A -620 11.0 50|16 9 5¢ N= vQ 400 13.0 3.0|18 8 2v N= A 110 100 6.0
7 18 3NO+1 a2 -630 8.0 80|13 4 3¢ N+2 vQ 150 70 90| 2 9 240-1 vJ 100 70 9.0
1 8 4v V+1 *T -650 50 11.0|14 11 4e¢ N+1 v2 150 70 9.0|10 16 24 O-1 vJ 100 7.0 9.0

16 9 4v O+1 44 -650 50 11.0| 3 2 3¢ N+1 vQ 130 30 13.0{15 6 3vN-1 *A -50 4.0 120

10 6 4y V+3 v2 -710 10 150(15 5 2¢ N+2 6 130 30 13011 7 3«V-= ¢ A -110 20 14.0

17 12 4y V43 *T -710 1.0 150(17 12 64 N-1 vQ -50 00 16.0|14 12 4vyDN-2 #A -300 0.0 16.0

10 «E10765 11 4 8765 12 & KKn9

Ost v7 Syd v 97632 Vast v Kn105

Alla +92 Ingen ¢ 105 NS + KD1098

#K10743 &Kn7 #E3
4842 4K 4 D94 4 E32 484 «ED72
v Kn9 v EKD86 vEDKn108 vK4 v 942 v K76
¢ KDKn643 ¢ E875 +6 + ED84 ¢ 742 ¢ 653
&ED #965 #K863 #ED102 #D10954 #KKn7
« DKn93 « KKn10 # 10653
v 105432 v5 vED83
+10 ¢ KKn9732 ¢ EKn
#Kn82 #954 #862
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

10 16 4v O-2 «Q 200 16.0 00| 2 17 6NO-2 v5 100 16.0 0.0| 2 17 3NN+1 K 630 150 1.0
4 3 3¢ V+3 v7 -170 13.0 3.0(16 11 4v V-1 ] 50 140 20|12 8 3NN+1 &7 630 150 1.0

13 5 4¢ V+2 v7 170 13.0 3.0({12 8 3NO+2 *7 -460 11.0 50(14 1 3vS+2 &5 200 120 4.0

17 1 5¢ V= v7 -600 100 6.0(13 6 3NV+2 ] -460 11.0 5.0(16 11 INN+3 v6 180 10.0 6.0
2 9 5¢V+l & A -620 70 90| 5 4 3NO+3 +9 -490 70 9.0| 3 10 2v S+2 «8 170 7.0 9.0

18 8 5¢ V+1 s A -620 70 90|14 1 3NO+3 *7 -490 70 90| 5 4 2vS+2 «9 170 70 9.0

15 6 4v O+l 4Q -650 4.0 120| 3 10 3NO+4 9 -520 4.0 120|113 6 INN+2 ¢6 150 3.0 13.0

11 7 3NV +4 a7 -720 10 150(15 7 6NO= v5 -990 10 150(18 9 2¢ N+3 ¢5 150 3.0 13.0
14 12 3NV +4 a7 =720 10 150(18 9 6NO-= oT -990 10 150(15 7 4vyN-1 &7 -100 0.0 16.0

13 « KDKn4 14 «E93 15 « 104

Nord v 8542 Ost v Kn1053 Syd v EDKn3

Alla +83 Ingen ¢ KKn103 NS + D652

#Kn109 #52 *E74
462 4109875 4762 4 Kn5 4 D873 &4K95
vKKn1093 vD6 vE9864 vK7 v9754 vK1082
+ D109 ¢ EKn75 ¢E952 +74 ¢ Kn74 ¢ E103
*D76 *E4 «D #Kn987643 +D6 #1053
«E3 «KD1084 & EKn62
vE7 vD2 v6
¢ K642 + D86 + K98
#K8532 #EK10 #KKn982
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 13 24 O0-2 vA 200 160 00| 1 9 4aS= *«Q 420 140 20|17 4 3NN+1 ¢T 630 16.0 0.0
1 9 2NN= T 120 140 20| 6 5 44S= *«Q 420 140 20| 7 6 3NN-= «5 600 120 4.0
4 11 24 S+1 42 110 110 50|14 2 4a4S= *Q 420 140 20|11 18 3NS= «3 600 120 4.0

16 12 3+ S= vT 110 11.0 50|16 12 2NS+2 v6 180 100 6.0|15 9 3NS= «3 600 120 4.0
6 5 3#S-1 46 -100 50 11.0| 4 11 24 S+2 «Q 170 8.0 80| 2 10 INN+2 «3 150 8.0 8.0
14 2 1a N-1 vQ -100 50 11.0| 7 13 24 S+1 «Q 140 50 11.0| 5 12 2NN= v2 120 6.0 10.0
15 8 2¢S-1 v9 -100 50 11.0|15 8 24 S+1 +«Q 140 50 11.0| 8 13 INN= v2 90 4.0 120
17 3 2#S-1 *T -100 50 11.0|17 3 44 S-1 *Q -50 10 150(14 3 3NN-1 +3 -100 1.0 15.0
18 10 INV+1 +K -120 0.0 16.0|18 10 44 S-1 *Q -50 10 150(16 1 3NN-1 v2 -100 1.0 150

16 « D97 17 & KKn87 18 « 842

Vast v EKKNn963 Nord v EKKn10763 Ost v 108

ov +95 Ingen .- NS ¢ Kn962

&E2 «D5 #DKn93
« EKn1052 4 K863 2109632 «E 43 « KKn75
v10 vD2 v82 v95 v EK4 v DKn76
¢+ D64 ¢ EK7 +84 ¢ ED107653 ¢ EKD108754 ¢ 3
+D1096 #Kn853 #10983 #Kn74 8 #E652
a4 « D54 « ED1096
v 8754 vD4 v 9532
¢ Kn10832 ¢ KKn92 .-
*K74 #EK62 «K1074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

11 18 4vyDN= ¢A 590 160 00| 6 1 6vyN= «A 980 150 10|15 10 6¢ V-1 a2 50 13.0 3.0
16 1 4vy N= ¢A 420 130 3.0|13 9 6vy N= A 980 150 10|16 2 6¢ O-1 s A 50 13.0 3.0
17 4 49 N= ¢ K 420 13.0 3.0| 3 11 4vy N+2 A 480 80 80|17 5 64 V-1 *Q 50 13.0 3.0
5 12 5vDN-1 <A -100 90 7.0| 4 14 4y N+2 ¢A 480 80 80|18 12 64 V-1 *Q 50 13.0 3.0
15 9 5vyDN-1 ¢A -100 9.0 7.0| 8 7 4y N+2 «4 480 80 80| 3 11 3¢ V+2 a2 -150 8.0 8.0
2 10 34 V= vA -140 30 13.0|16 2 4y N+2 A 480 80 80|13 9 5eV= a2 -400 6.0 10.0
7 6 34V= vA -140 30 13.0|18 12 4y N+2 A 480 80 80| 4 14 3NO+1 46 -430 4.0 120
8 13 24 V+1 vA -140 3.0 13.0|15 10 3NS+2 ¢8 460 20 140| 6 1 5¢DV+1 &3 -650 2.0 14.0
14 3 3a4V= vA -140 3.0 13.0|17 5 4vy N+1 ¢A 450 00 16.0| 8 7 64 O= v9 -920 0.0 16.0
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19 # K98752 20 « ED1032 21 «E4
Syd vD2 Vast vE94 Nord vKnl1074
ov ¢ 105 Alla ¢ Kn5 NS ¢ KKn5
K63 #1042 &E1074
«ED3 4104 498 & Kn65 « D82 & KKn93
vE853 v97 vKD8 v Kn65 vKD93 vE85
¢832 ¢ EKn64 4983 + EKD1072 ¢+ D9642 ¢ 87
D84 #EKNn1095 #DKn987 #3 *2 #D853
4« Kn6 & K74 410765
v KKn1064 v 10732 v 62
+ KD97 ¢ 64 ¢ E103
72 #EKG5 #KKn96
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res
18 1 4&V-2 ¢T 200 16.0 00| 4 12 24 N+1 ¢A 140 130 30 5 1 3NS= +4 600 0.0
17 6 3&V-1 vQ 100 140 20| 5 14 24 N+1 ¢A 140 13.0 30|10 9 INN+2 3 150 3.0
7 2 34N-1 *9 -50 100 6.0 7 2 34 N= ¢A 140 13.0 30|12 15 INN+2 3 150 3.0
9 8 2vS-1 v5 50 100 6.0 9 8 34 N= ¢A 140 13.0 3.0(14 6 INN+1 ¢7 120 8.0
13 10 24 N-1 v9 -50 10.0 6.0|11 15 34 N-1 ¢A -100 50 11.0(16 4 INN+1 5 120 8.0
16 3 34 N-2 A -100 6.0 10.0(13 10 34 N-1 *A -100 50 11.0|18 2 INN+1 3 120 8.0
5 14 340= ] -110 40 120(16 3 34 N-1 *A -100 50 11.0| 8 3 240-1 v6 50 12.0
11 15 28V +2 a2 -130 20 14.0|17 6 34 N-1 ¢A -100 50 11.0|13 11 INN-1 43 -100 14.0
4 12 34 N-3 v9 -150 00 16.0(18 1 3¢ O+1 a4 -130 00 16.0(17 7 24 O= v6 -110 16.0
22 410943 23 «D2 24 495
Ost vD5 Syd v 10984 Vast vD7
ov 4952 Alla ¢ DKn83 Ingen + DKn6
#DKn63 £1064 #EK10976
48 &« KD52 « KKn93 & 10654 « ED7  KKn10843
v 384 vKn72 vEKKn2 v63 vE4 v 10862
¢ EDKn8 ¢ K76 ¢ E2 + 10654 49875 ¢ EK4
#EK8752 #1094 &#Kn85  #K32 &#DKN32 &-
« EKn76 « E87 462
v EK10963 vD75 v KKn953
¢ 1043 ¢ K97 ¢ 1032
»- &ED97 #3854
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res
10 9 44DV-2 ¢Q 500 16,0 00|17 8 2¢ O-3 «A 300 16,0 00(18 3 24 O+1 &4 -140 0.0
13 11 34 S+2 «A 200 120 40| 6 2 2vV-2 +3 200 140 20| 9 4 44 0= *4 -420 6.0
16 4 3#V-2 vQ 200 120 40( 9 4 340-1 v5 100 11.0 50(12 13 44 O= *4 -420 6.0
17 7 44V -2 vQ 200 120 40(15 1 340-1 47 100 110 50(14 7 44 0= 8 -420 6.0
12 15 34 S= «A 140 80 80|14 7 INS-1 vA -100 80 80|15 1 440= *8 -420 6.0
5 1 3sV-1 vQ 100 50 11.0|12 13 24 O= +9 -110 6.0 10.0|17 8 44 O= 8 -420 6.0
18 2 3#V-1 vQ 100 50 11.0|18 3 24 O+1 *7 -140 40 120| 6 2 3NV+l a5 -430 12.0
8 3 3vS-1 *A -50 20 140( 5 16 INDS-1 YA -200 1.0 15.0| 5 16 44 O+1 v9 -450 15.0
14 6 4v S-2 *K -100 0.0 16.0|11 10 INS-2 vA -200 1.0 15.0|11 10 44 O+1 *4 -450 15.0
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